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Answer all the questions.

Each question is followed by four options lettered A to D. Find the correct option for each question and shade
in pencil, on your answer sheet, the answer space \which bears the same letter as the option you have chosen.
Give only one answer [0 each question. An example is given below.

The ages in years, of four boys are 10, 12, 14 and 16. What is the mean age of the boys?
A. 12 years

B. 12% years

C. 13 years

D. 13 %years

The correct answer is 13 years which is Jettered C, and therefore answer space C would béshad

[A] [B] e [D]
Think carefully before you shade the answer spaces; erase completely any @uswek\: wish to change.
Do all rough work on this question paper.

Now answer the following questions.

ey (1237 - - N

A 83
B 43
c. -4
D

83

The binary operation * and A are defined on

the set of real numbers, R,bym*n= m? + n?

andpAq=-E,wherem,n,p,q € R.
q

Evaluate (6 * T) A (10 A 2).

A 85

B. 34 . 4. Findthe remainder when

c. 30 for) =23 —4x? = Tx+1018 divided by (x +3).
D 17 A. 32

' Rith
£ B. 20
€sS 8l © in surd form (radicals). ¢ =20
D.

=32

1
~|v6—~2
4 (\[_ J—) 5. Findtheimageof(3,~ 5)under the transformation
- %(J'Z'Jr\/g) i(x,y):(;; 2y, — 2x — 4y).
) . =82
o %(JE—JE) B. (-7,14)
C. (6,20)
5 A ¥ Pt
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If k2 = 12x+ k=0has equal roots, find the values
of k.

A 9

B. +£6

C. £3

D +2

888

Find the range of values of x for which
—x+2>0and-2x—-5<3,

K, —dLp<=32
B. —-4<x<2
E =2sxed
D. 2<x<4
8. If X;Z ® |ssg. i thisaliis oo
A 6
B. 5
C. 4
D. 3
9. Giventhatf:x — x+‘§ ,x #3, where p is
x_

hh

terms of x.
Q | y: iJ;

Given that 2 = x2— 3x + 9, find the value of

a4y at (0, - 3).
dx

A.

B.

h

9=0and
oigP, find the

Given that the lines 3x — 2y
Sx+ 7y +20=0 interse
coordinates of P.

logax 1
that 16 2% + 4 %82 = 1, express y

3
constant and f(5) = 5 find the value A
A -3 B. ekl
B =2 C  p=st
C. 2 3
geehhh D. y=x
D 3
14. A sphere of mass 10 kg moving with velocity
10. The midpoi& ining P(— 7, 3) and of 6.4 ms™! collides with another sphere of mass
_ 6 kg moving in the same direction with a velocity
QB 1 M Kind thie;vaheof o of ums™', After collision, both spheres move
with velocity of 7 ms ™. Find the value of u.
A9
9 geghhh
B. 8
D. 3 c. 7
D 6
WpPCAO11/277 f=2
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15. A body whose weight is 100 N is placed on a 19. - table shows the distribution of marks
smooth plane inclined at 60° to the horizontal. — uned by StUths ng Physm% teﬁt
Calculate the acceleration of the body along the Marl\s '10 19\20 -29|30-39 |40-49 '50 59 60 69
plane. [Take g =10 ms 4 f’:q_m rcv 4 1 T6 |12
A 50«/5 ms > I*md the lower class boundary of the modal clas
B. 5042 ms? A 39.5
C. 53 ms? B. 385
D, 5V2ms? C. 305

D, 295

16. Find the direction of the force

F= Jlﬁl i —2)N. 20. Find the coordina e cg}tre of the circle

A, 120° ggbhhh

B. 150°

C. 210°

D. 240°

xZ
17. Differentiate with respect to x.
(2x+1)
By 2k
@x*+1

884

18.

ich of the following represents — g =~ p!

A. Charles is not brilliant implies he is not regular
in class
B. Charles is not regular in class implies he is not
brilliant
C. Charles is not brilliant and regular in class
D. Charles is regular in class and dull
wpPC401 1/22/nig/fad

21. Ifaandf are the roots of dx* +x—4=0,

evaluate Lz 4 1.

ﬁ2
LB
1k d 16
31
B. —Ig
31
C. .1—6
é
D. 16




22. Find the number of terms in the exponential
111 1

sequence (G. P.):

2°4°877"512°
AT
B. 8
C. 9
D. 10

23. T W={x:2x+125}and Y= {x:2x— 1< 5},

where x € R, find (W N'Y).

A, {x:2<x<3} ; 888!
B. fe22=x<l)
C dreld<x<3
B. dxp2<x<3}

24. Find the coefficient of the fifth term in the

Binomial expansion of (2 — x)%in ascending
powers of x.

A. 60
B. 12
L =12
D. - 60

4
25, Given thatsinx= g,where 0° <x <902, fin

the value of cos 2x.

A. 2
25
B, o
25
7
. £gg!
D

thrown vertically upwards with a velocity
ims™ 1. Calculate the maximum height
[Take g =10 ms 2]

100 m
B. 125 m
. 150 m
D. 250 m

wpPC4011/22/nig/fad

27.

flrh

28.

29.

30.

Given that the sum of the first » terms of

a sequence is S, = 21 + 5, find its n™ term.

A 2n2—4n+7
B. 2-4n
C. 4n-2
D, dn+2

Find the area between the curve y = 2x2
x-axis and the ordinates x =0 and x =

2
A5 05 square units

2
B. 34—3— square units

that two athletes, X and Y, will
Medal in a competition are 0.65 and
ctively. Find the probability that at

re
le ¢ of them will win a gold medal.
A, 07125
B. 0.8825
C. 09025
D. 09125

If two functions f'and g are defined by
fix—sinxandg:x— v1—x?, find g o flx).

A, sin’x
B cosx
C. secx
D tan x

Turn Over



8 3
31. Given that forces Iy =[ _2 }, F, :[ 3 } 34.
and F, = _41 ] , find the magnitude of the
resultant force.
A. 15 N
B. 13 N
c. SVsN
D. 45N -
gugnhh

32, If the coefficient of the 5 term in the binomial
expansion of (1 + kx)8 in the ascending powers

of x 1s ;’E , find the value of £,
3

A 2
Lol
’ 2
& 2
2

D. 2

33. Giventhat——— 5 =
(x=2)(x"+1) (x

find the values of k, m and

ggeh

wpPC4011/22/mig/fad

37.

The scores obtained by 10 students in a test are
3,6,7,8,2,5,9,4,1 and 10. If the mean 1s 5.5,
find the standard deviation.

A 225
B. 287
G 335
D:. 338

2311+4 i 8n+l 3

If — =, find the value o
Tl 8

A. —J

B. =2 'S

C. 2

D. 5

s can & students be seated on a
onl¥ 3 seats are available?

120
C. 336
D. 840

Given that x = — 7i + 6j, v = 10i — 11j and

1
plx—y)= 5{ 511 ],ﬁnd the value of p.
A2

2

2

B. -
3

@ —
3
.3
' 2



38, If flx)=x° —is and f{1) = 4, find A{x).

1 11
A. ==t —+=
) PR
ML B
’ A
2 1 11
C f(.x)—:_'xj_4
4
X 1 11 egghhh
D f(x)_4 4+4

39. In how many ways can five boys be chosen from
a class of twenty boys, if the class prefect st |
be included?

A. 15504
B. 11128

€. 4845

é\'\\'
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40. A box contains 2 green and 3 blue identical
~ cards. If 3 cards are selected at random from
the box without replacement, find the
probability that at least one mu:’ be green.

A.

B.

o

D. 3876 : EK
Tz

0.6
0.7
0.8
0.9
*
EN, ER



